EARAROBEEIERT — 2 N— IBISH —F

2019518208 (B) 1EI=#7H

3R R A Sl

‘ [R1&] /J\Eﬁ‘ [EERR]  — | 4 (&) 1400M FHE

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 5 4t 3 | BAUGLF 1:26.6 2-2 38.0| 87.1 | 2 452 | KIGSEH (FR)
115/10| 21 H—TF—"J 56.0 ) (+14) RIS
Z:va7x BnNA/)yY &I *E—
S . 4 3 | ERIEX 1:26.7 1-1 38.3 | 86.1 | 1 464 | AR—R (BR)
20111 A ahYHx 54.0 (3/4) *+2) HAZRGFIfE
LN=HINK B:T5T7—HAT e
— e o3 | X 1:27.2 4-3 38.5(81.7| 5 476 | BBFIZ (BR)
—RrERAIL—I 56.0 3) (o) |IFEAES
Lib—t>ya-4> B:zfk>EOds—% & %
= INEEHK : - PARE (BR)
IAYZTIILST i 3 s 1(.12/72.)3 6-5 38.4( 8.9 | 7 ff) WRER
RNV TSY B:YavT ®l E—
S _ 3 | BAR 1:27.4 10-9 | 38.1| 80.1 | 13 | 426 |HABEFE (RRN)
7 56.0 (3/4) (-4) BIBHEA
R:TZv 784K B:nhEYY LEHS
7 # 3 | AR 1:27.7 7-7 38.7| 775 | 3 452 | HAKEE (RR)
7900/ X 56.0 @ (-2) |DMMEY—LT5T (i)
LNX—HNEK B:A7Unv>R Y 2 s
gy F)=7 it 3 iglz_o 1(/@)7 7-7 38.7| 775 | 8 z:g()) g;;@(ﬁf)
AL anY LYy BIUJEYvIEL w5
- - : 0 BFRE (FR)
A4 AL F—% 3 B (17.277% 10-10 | 38.5| 77.5 | 6 zg)z qu]ﬁjﬁ
L4000 B:¥+>Fq2R N7 7 — L
P = — . # o3 | WHEE 1:27.8 2-5 39.1] 76.6 | 10 | 466 |¥/IFEZ (RR)
77TV 7¢55.0 (3/4) o) | R T52T
LTS TURZ B:Y I RTAZT 1 FRFE4US
5 w A7 4 3 | SlE— 1:27.9 10-10 [38.7| 75.8 | 12 | 448 |=tEEmE (ER)
10012 ¥r¥axTxy o> 56.0 (1/2) (-g) | BEER
R:YZZXE4—3Z2R4— BI(Y AyFI will v
= R 4 3 | EoHN 1:28.1 13-13 | 38.6| 74.0 | 14 | 484 |ETEER (BR)
] 8 T1 I.Lx'?’f/ K 56.0J (1 1/4) -2) FrEIEH
LY LITAN—F B:FAILTYZREIL A&7 1 I LUtk att
4 3 | RHERE 1:28.2 13-13  [38.7] 73.2 | 11 482 | FBR (ER)
12/51]9 ALFTARXE— 56.0 (172) (o) | B) A#TF—L
R:F—TTUTLT Bia1x%57 RS ETR)—F—XFF
SRS f 3 | FEBZ 1:28.8 4-3 40.0| 68.8 | 4 456 | REAE (ER)
137 [13| TVAT K= 54.0 3172 we | AfRIEX
R:T—074—&X B:UrFrT4—2 J—HrTr—LA
o Sy = # 3 | RIUE—EB 1:29.6 13-13 [ 40.0| 62.4 | 16 | 448 |BNE (ER)
141816 ETFHIT 1 56.0 ®) (g | FEE=
RV RYZYRAIR B:EIFTSY=— MRAEH 51X
S . 4t 3 | BRERAB 1:29.6 7-12 40.4| 62.8 | 15 | 470 |/MNBEE (RR)
15/ 815 d—JLRXA k=2 56.0 (7E) -2) FIHFEAER
R:vavrhrT B:T7LTER—L—12X 17 I35
. t> 3| BEUEKR 1:29.7 16-16 | 39.6| 61.2 | 9 492 | BR (FR)
Eﬂ 7 '77775‘5/ g 56.0 (1/2) (+12) =
R: 4/ d—d— B:74>71—> Ab=—LT7p—LA—KRKL—3>
@ 71 L
) 50.8-38.2
NA &AL [ 12.2-11.2-12.4-12.6-12.5-12.6-13.1
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x1,10,12) (5,13)11(3,4,15) (2,6,14)-(8,9,16) -7
40—F— (¥1,10) (5,13) (12,11) (3,4)14(2,6)15(8,9,16)-7
[ N3
B O 10 540M 714K 1-10 590M e E 1-5 1,030 JEHE 1-5-10 3,750
8 B 10 1909 5-10 1,120H B = 1-10 1,410 B 10-1-5 19,170M
1 1704 1-5 620 B H 10-1 2,960
5 270M

ABICOVWTRDTEEERROODE. TR LIV,




